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[UisE F] 2021.7.12
BEFEAERER(2EE)
No. HiBL-LER #BO BEO
N=FB3=4'y b2 -3 X OXKO X ODRBRDIETEND.
T 700m 100m 200m
2 300m 200m
3 300m 300m 400m
4 800m 400m
5 800m 800m 400mH(0.914m/35m)
6 3000m 1500m
7 3000m 3000m 5000m
8 110mH(0.991m/9.14m)X® 100m
) 110mH(0.991m/9.14m) 110mH(106.7m/9.14m)%® 100m
10 110mH(0.914m/9.14m)%® 100m
11 300mMH(0.914m/35m) % ® 200m
2 300MH(0.914m/35m) %@ 400mH(0.914m/35m)
3 300mH(0.914m/35m) 300MH(0.914m/35m) %@ 400mH(0.838m/35m)
14 400mH(0.914m/35m) %@ 200m
15 5000mW 1500m
16 3000mw 5000mW 5000m
17 = FENE Bk 100m
18 ki Bk R
19 = o=k 100m
20 EEB EE =k
21 — =Rk 100m
22 =Rk =gk EiaH
23 = Eak 100m
24 i T B
25 - FaALE(6.000k) FIEE 1% (1.750kq)
26 fil 2. $(6.000kg) #5118 (6.000kg) U $(800g)
27 " FI 8% 1% (1.750kq) Ta 7% (6.000kg)
28 FIBR(1.750kg) F3 8% (1.750kq) N> < —1%(6.000kg)
29 T 7N < —12(6.000k) FaFL1%(6.000kg)
30 /2 ¥ —13%(6.000kg) /NS 7 —$2(6.000kg) FI 8818 (1.750kq)
31 - 3 1(800q) Fa#.1%(6.000kq)
5
% +b 1) $(800g) Y $%(80009) F#23%(1.750kg)
[U18%F]
HFHABREH(2RE)
No HiZE L= ER RO BEO
N=FVDE=5y M-V 1i—-3X 0¥ *ODREDIETEHS.
1 100m 100m 200m
2 300m 200m
3 300m 300m 400m
Z 800m 200m
5 800m 800m 400mH(0.762m/35m)
6 1500m 1500m 3000m
7 100mH(0.762m/8.50m)3%® 100m
8 100mH(0.762m/8.50m) 100mH(0.838m/8.50m)3¢® 100m
9 300mH(0.762m/35m) %@ 200m
10 300mH(0.762m/35m) 300MH(0.762m/35m) %@ 400mH(0.762m/35m)
11 400mH(0.762m/35m)X% @ 200m
2 5000mW 1500m
13 3000mw 5000mW 3000m
14 = Mg Bk 100m
i ki Bk Ea
16 = EE Bk 100m
17 e E=Bk =Bk
18 — ZERBk 100m
19 =Rk =k EE
20 = ok 100m
21 ik EE EiEE
22 n Fa.$%(4.000kg) F#23%(1.000kg)
4
23 faAL$5(4.000kg) Fa3.4%(4.000kg) % U $(6000)
24 n F#2$%(1.000kg) Fa#3%(4.000kg)
25 Fa%12(1.000kg) F9 2 #%(1.000kg) /N> 7 —1%(4.000kg)
26 . > in /N7 —$5%(4.000kg) Fa541#%(4.000kg)
77 /N2 X —1%(4.000kg) /N> < —$(4.000kg) F3 8518 (1.000kg)
28 n Y #%(6000) Fa#3%(4.000kg)
5
29 1 $(6009) %1 $(6009) M 854%(1.000kg)
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[U16EF]
EFRAERERRER)
No. Wiz L=\iER BHO BEO
1 100m ENE Bk
2 100m 100m 110mH(1.067m/9.14m)
3 100m 110mH(0.991m/9.14m)
4 100m 110mH(0.914m/9.14m)
5 F 100m
6 EIEH ENE Bk 110mH(1.067m/9.14m)
7 = iRk 110mH(0.991m/9.14m)
8 IRk 110mH(0.914m/9.14m)
9 o=k FENE Bk
10 = ES B 110mH(1.067m/9.14m)
11 = ES Bk 110mH(0.991m/9.14m)
12 E= Bk 110mH(0.914m/9.14m)
13 n Fa#13%(5.000kg) F#2$% (1.500kq)
14 il 2. 3(5.000kg) Fa 1, 1% (5.000kg) F3 8248 (1.750kg)
15 EE HEE 100m
16 = HE Bk FE g Bk
17 150m
18 110mH(0.991m/9.14m)
19 =210
20 1000m EEFRRARLY
21 SRy HRA—(F—KRT ¥ D)
22 1 #8 #%(1.500kg)
23 4x100mR
[U16&%F]
ZFHAEREHQER)
No. Wi L=\ \iER BEO HEO
1 100m E Bk
2 100m 100m 100mH(0.838m/8.50m)
3 100m 100mH(0.762m/8.50m)
4 100m 100mH(0.762m/8.00m)
5 EnE Bk 100m
6 EIEBk ENEHk 100mH(0.838m/8.50m)
7 = SRR 100mH(0.762m/8.50m)
8 EERk 100mH(0.762m/8.00m)
9 Eo Bk FENE Bk
10 E= Bk EEBk 100mH(0.838m/8.50m)
1 = ES B 100mH(0.762m/8.50m)
12 E =Bk 100mH(0.762m/8.00m)
13 FaAi%(2.721kg) FaAi%(2.721kg) %235 (1.000kg)
14 Sk
15 150m
16 100mH(0.762m/8.50m)
I =Bk AR AL
19 Sx RNy HhRA—(Z—EKT ¥ D)
20 A #23% (1.000kg)
21 4x100mR




